[ Efficiency vs vertpos |
- 05

20.45
4
2 0.4F
(8]
$0.35F
0.3
0.25F
0.2F
0.15F
0.1
0.05

ettic

0
1.2

Ratio

1]

T T T T

0.8 .
1072 107 1

10 0
TP vertr (cr%)

2

—=— DQM_CKF_TTbase

Efficiend

—— DQM_mkFit_TTbhase

~ 0.1

S R s S

o F i

>0.08------ e

> F : : : :

2 E : : : :

SR T S S S

[3} o : : : :

£ 0.06------ renneedeeeneeee

] o : : : :
S R R
T
0.03F +

e T
.00 -+--beeeendee '

...........

...........

...........

S T I TR
2 [ ' ' d
g 12f------ e T 1% N SO
c P

| RRRRES FERRTEEIEINE 08 ) Tt

08 =0 0 10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

10

Ratio

1.1

1

o
©

|
P ....:

15 20

. PV z(cm)




	Contents
	Page 1


